
MODEL : YT - TWH 5068S HMPTN MADISON SINGLE BED ( Metal Slat ) - 2 Support Legs

ASSEMBLY INSTRUCTION

2

SIDE SUPPORTER

5

2

METAL BASE

4

2

FOOT POST

2

3

2

HEAD POST

2

HEADBOARD / FOOTBOARD 

1

8

NO QTYDESCRIPTION

PART LIST

M6 HEX NUT

1

F

4

M4 ALLEN KEY

E

M6 x 50mm JCBC SCREW

C

B

M6 x 25mm JCBC SCREW

A

QTYDESCRIPTIONNO

HARDWARE LIST

Before you begin,please follow Assembly Instruction carefully. Follow them step by step

4

M8 x 25mm JCBB SCREW

4

step3 step 4

1

G

M5 ALLEN KEY

M8 x 70mm JCBB SCREW

D 4

C

4

E

5

F

F

B

B

B

B

1

2

3

1

4

4

5

FULLY SETUP

step 1

step 2

A

GG

D

Remark :
* Do not tighten the screws fully
  until all screws are in place.


